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RO : Witk 60 mLx1 i, 4°CHRAF;
WF—: Wik 8 mLx1 i, 4°CHRAF;
WA= Wik 8 mLx1 M, 4°CHRAT;
WA= A< i, E=IRRAE
WY AR 18 mLx1 i, 4°CERAT;
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LAMWAL . EHALFE (2 « X mL)A 1: 5~10 fELB] CRIHRENZ) 0.1g 4143, I ImL
FERD , BHTUKIR A . FEWIREL 15min, 5000 rpm 4°CES.0r Smin, B HURAFI .
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1. Ifij& FFA &8it5.
FFA % 5 ( 1 mol/mL)=(AA+0.0141)+0.0322xV1+(V3 X V1+V2)+1000
=0.621x(AA+0.0141)
2. BYASL. R, diiirh FRA & it E.
(1) HERA R
FFA % (1 mol/g £ 5)=(AA+0.0141)+0.0322xV1+ (Wx V1+V2) +1000
=0.031x(AA+0.0141)+W
(2) HEHAERAWRES
FFA (1 mo/mg prot)= (AA+0.0141)+0.0322xV1+(V1xCpr)+1000
=0.031%x(AA+0.0141)+Cpr

s MAEEARMRE, 0.75mL; V2: ZEEURAR, 1mL; V3: MAME &) #4F, 0.05mL; Cpr: #EA
%Efﬁﬁz)ﬁ, mg/mL; W: ZHHSREME, g 1000: 1 1mol=1000 nmol -
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2. AR HBRA 10 nmol/mL.



